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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

System TRS18

(Reflective CIE, YN=2.52
and CIELAB cero point)
(CIELAB according

to ISO/IEC 15775)

Colorimetric data:
System TRS18

(Reflection adapted
and CIELAB cero point)

System TLS00

(Display reflection
Yr=0.0)

System TLS18

(Display reflection
Yr=2.52)
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L*=LAB* 1

87.14
35.47
59.01
52.76
92.74
84.0
18.01
95.41
0.01
100.0

a*=LAB* 2

-44.42
64.92
89.33
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b*=LAB* 3

-13.12

-95.07

-19.43
49.88
84.97
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C*/=LAB*

46.33
115.13
91.42
87.29
87.3
108.2
0.01
0.01
0.01
0.01

48.72
17.93
53.43
37.9
68.68
33.17

Television Reflective System TRS18 for CIE lightness L*=18 of black
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L*=LAB* 1

87.14
35.47
59.01
52.76
92.74
84.0
18.01
95.41
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100.0

L*=LAB* 1

86.88
30.39
57.31
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92.66
83.62

L*=LAB* 1

87.14
35.47
59.01
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0.01
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a*=LAB* 2

-44.42
64.92
89.33
71.63
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a*=LAB* 2

-46.15
76.06
94.35
76.91

—-20.68

-82.74
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b*=LAB* 3

-13.12
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b*=LAB* 3
-13.54
-103.57
-20.68

64.55
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b*=LAB* 3
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49.88
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C* r=LAB*

46.33
115.13
91.42
87.29

C*r=LAB* ¢

48.11
128.51
96.59
100.41

C* r:LAB* r

46.33
115.13
91.42
87.29
87.3
108.2
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X=XYZ1 Y=

48.72
17.93
53.43
37.9
68.68
33.17
2.4

84.21
0.0

95.05

47.68 (=47.68+0.0)
15.99 (=15.99+0.0)
52.53 (=52.53+0.0)
36.54 (=36.54+0.0)
68.22 (=68.22+0.0)
31.68 (=31.68+0.0)
0.0 (=0.0+0.0)
84.21 (=84.21+0.0)
~2.45 (=-2.45+0.0)
95.37 (=95.37+0.0)

X=XYZ1 Y=

48.72 (=46.32+2.4)
17.93 (=15.54+2.4)
53.43 (=51.03+2.4)
37.9 (=35.5+2.4)
68.68 (=66.28+2.4)
33.17 (=30.78+2.4)
2.4 (=0.0+2.4)
84.21 (=81.81+2.4)
0.0 (=-2.38+2.4)
95.05 (=92.65+2.4)

Colorimetric data of "Standard Original": Television Reflective System TRS18 for CIE lightness L*=18 of black
X=XYZ1 Y=

Calculated colorimetric data: Television Luminous Systeme (TLSxx) for CIE lightness L*=xx=00, 18 of black
X=XYZ1 Y=

IE600-7N, Colorimetric data of Television Reflective System TRS18 and calculated Television Luminous Systems TLS00, TLS18

TUB-test chart IE60; HSystems TRS18=TRS18a, TLS00 andpit3i8* setrgbcolor
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Television Reflective and Television Luminous Systems, pagetfit:no change compared to input
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